_ Decimals |

Tick (V') the correct answer.

1. 2. 3.
A.0.1 A. 97 A. 5
B. 10 B. 0.97 B. 0.05
C. 100 C. 0.097 C. 50
D.0.01 D. 970 D. 0.5

Write the numbers in word form.

A.0.58 =

B.0.181 =

C.18=

D.34=

Write the numbers in word form.

A.Six tenths =

B. Twenty-five hundredths =

C. Five hundred twenty-eight thousandths =

D. One and four-tenths =

. Write the place for each underlined decimal.

A.0.693 =
B. 6.394 =
C. 7422=

D. 3.52=




—

v. Change unlike decimals into like decimals.
A.12.8,8.91,17.455
B. 1.009, 7.8, 0.55
C.15.6,23.78,0.234

vi. Identify the pairs of like decimals.
A.419.3 & 88.869
B. 456.6 & 617.35
C.5.37 & 45.155
D. 4.69 & 9137

vi. Convert into like decimal and add.
A.943.7 +243.264
B.4.08 +42.488
C.3.9+482.92
D.62.48 +9.2

E. 28.495 + 395.6




